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Тренажер



Подумай!
 



Реакция 
соединения

Mg+O2=2MgO

2Au2O3= 4Au+3O2

CaO+H2SO4 = 
CaSO4+H2O

2Na+2HCl=2NaCL+H2



Реакция 
разложения Ca(OH)2=CaO+H2

O

4Al+3O2=2Al2O3

Zn+2HNO3 = 
Zn(NO3)2+H2

MgO+H2CO3 = MgCO3+H2O



Реакция
замещени

я 

Fe+2HCl = 
FeCl2+H2

2NaOH+H2SO4 = 
Na2SO4+2H2O

4K+O2=2K2O

2KClO3=2KCL+3O
2



Реакция 
обмена

BaO+2HNO3 = 
Ba(NO3)2+H2O

Fe+CuSO4 = FeSO4+Cu

2Cu+O2=2CuO

CaCO3= CaO+CO2



Реакция
соединени

я
2H2+O2=2H2O

2Fe(OH)3= 
Fe2O3+3H2O

Ca+2HCL=CaCl2+H2

AgNO3+NaCL=AgCl+NaNO3



Реакция
разложени

я Cu(OH)2=CuO+H2
O

2Al+H2SO4=Al2(SO4)3+3H2

N2+O2=2NO

3MgO+2H3PO4 = Mg3(PO4)2+3H2O



Реакция
замещени

я

2Na+2H2O=2NaOH+H2

H2CO3=H2O+CO
2

N2O5+H2O=2HNO3

Ba(OH)2+H2SO4=BaSO4+2H
2O



Реакция
обмена

3Ca(NO3)2+2H3PO4=Ca3(PO4)2+6
HNO3

2Al+3Cl2=2AlCl
3

2H2O=2H2+O2

2CuCl2+2Al=2AlCl3+2Cu



Реакция 
соединени

я

SO3+H2O=H2SO4

Ca+2H2O=Ca(OH)2+
H2

Fe2O3+3H2CO3=Fe2(CO3)3+3
H2O

Ca3(PO4)2=3CaO+P2
O5



Реакция
разложени

я
4HNO3=2H2O+4NO2+O2

4P+3O2=2P2O3

MgCl2+K2SO4=MgSO4+2KCl

Zn + 
Cu(NO3)2=Zn(NO3)2+Cu



Реакция 
Замещени

я
2Al+Cr2O3=Al2O3+2Cr

P2O5+3H2O=2H3PO4

Al2O3+3H2CO3=Al2(CO3)3 
+3H2O

SO2+2NaOH=Na2SO3+H2O



Реакция
обмена

N2O5+Ca(OH)2=Ca(NO3)2+H
2O

2CuOH=Cu2O+H2
O

N2O5+H2O=2HNO3

CO2+2Mg=2MgO+
C



Молодцы!
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